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long f0-0.f1-1;

while (true)
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" int i=0;
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{
X x=2;
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int main()
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cin>>n>>m;
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a5 n=n-m;
¥ i=i+1;}

cout<<i<<n;
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int main()
{
int man.r;

cout<< "enter two numbers:";

cin>>n>>m;
ﬂ) whilem>0)
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1 n=m,
3 m=r;
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intr;
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N r=n7.10;
;.?\ n=n/10;
‘ }

return r;
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3} return n;
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int T(int n)
{
int a=1;
ifm<0) return false;
if(m==0)return true;

for(int m=0;m<n;a)
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h
ifm==n) return true;
else

return false;
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int a[10];
al0]=1;

for(int i=0;i<6;i++)
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cout<<al4];
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bool F(float a[]. int& n. float x)
{ cin>>n>>x;
for(int i=0;i<n;i++)
if x==alil)
for(nt j=ijj<ngj++)
{aljl=alj+1];}
n=n-1;
for(int j=0;j<njj++)
cout<<'a|'<<j<<]"<<aljl<<"
return true;

return false;

}
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void Fa(int a[].int n)
{
int j=n-1;

for(int i=051<m/2);i++)

{
N int temp=alil;
a5 alil=aljl;
\

aljl=temp;
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unsigned len(const charx s)
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s =new char[const];
unsigned z;

cout<<'please enter const char:'<<endl;

N for (int i=1;i<const; i++)
§ cin<<s;
p ) if (s1="\0";
"i ++8S;
J clse break;
i Z=S;
i;“ return z;
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while (cin get(c))
{ifc>="a"&&c<="z)c+="A'-"a}
cout.put(c),

if (¢ = = "\n") break;
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char ch[80]; A
cin.getline(ch,80);
while(cin.get(ch))
cout.put(char(tolower(ch))) endl;
char ch[80]; Y
cin.getline(ch,80);
while(cin.get(ch))
ch+='A'-"a’;
cout<<ch<<endl;
char word[5][15]; ¥

cout<<"enter at most 5 word with at most 14 char:";

count=0;

for(i=0;i<5;i++)

{cin>>nameli];

while(cin.get(ch))

if(ch=="m")++count; break: }
char ch[80]; -t
cin.getline(ch,80);
while(cin.get(ch))
{count=0;
if(ch=="0")
++count;
}
cout<<ch<<count<<endl;
int a(charch([])
{int count=0;
while(cin.get(ch))

if(ch=='m") ++count;

return count;
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void st(ch[l.intigj)

{
1

for(i=0;i<205i++)

cin>>chli];

for(i=j;i>=0;i—-)
ch[j--]=chlil;

return,

]
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